EARAROBEEIERT — 2 N— IBISH —F 20185F3A13H (k) 28mEHMH3A

m 3mAB #5%3m% (xwlm [ memml - |y ) oo mE
[A&4] 1 7% :1,000,000 23 :280,000  ~ 3 3%&:140,000  ~ 4 #:100,000 @ .~ 5 7& :80,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
“ S 4 3 | TERE 1:55.0 3-3-3-3 [39.6| — 6 486 | HEMH—E (EH)
1 o | VIS 55.0 (=) ) Eﬁl#ﬁl
LixAayayy B:T7x/ 754 wmR =i
. # o3 | EHEE 1:55.4 6-6-2-1 |40.0| — | 1 | 455 |EhEEE (EME)
2 4| A—FR70OUL 56.0 2 1/2) © | @ Tu—>T5—L
R:IART—IWYF— B:TATRH allitie
= 45 4 3 | KEKER 1:56.1 1-1-1-1 | 41.0| — 5 500 | &ETTHE (FEf)
3l7l7| 7L 55.0 @ (-4) ?‘:?HIHH?LQ\
LTITRATFIAIN BiF w13 AW 7S
\— T 4 3 | B 1:56.4 7-7-7-7 | 40.3| — 2 494 | BHiEX (FHH)
4188 A—=IN—2 1y b 56.0 (11/2) (+2) (E];—J P N A
R:AxEFY B:IU->TIRy b RE R4S
N FEWEAT :56. —5-6— . — RFRF (EH
5 3| FrU—mA2Y 3 B 1(15/62>5 5-5-6-4 | 40.8 3 (5_010) GHET
L:Fr)=U79> B:FrU—/A1ER BRI 7L
. i 3 | BEHT 1:57.5 4-3-5-5 | 42.1| — 8 433 | EAMEIE (FEHH)
6lglol E-FT T 54.0 ®) © | (B JPNHER
R:xA21ZG7—R BRI ATF v ITIA b st IUFC T4
TR o3 | ZEEX 1:57.7 9-9-8-8 |41.3| — 9 454 | RFIRK (EM)
7 6| — yR>tE—5 54.0 (1 1/4) -3) BEFRER
L:7v3IT—L B:bynNr P95 BeR
ey = JNRE— :58. 04— . — Jeilz=Rl (E/)
lsls| 7€y b 3 e 1(558)6 2-2-4-6 | 43.3 4 (4_636) et
R:TYIHXFLTR BILRLITILY 0114585
N # o3 | TRhEHR 2:00.4 8-8-9-9 [43.9| — 7 395 | KIRIER (FEh)
9l11 |7y 7TN>T 54.0 (24 4%) (o) | AREXT
T4 T7Ty>a B2y THh— =Y Tr—LA
® I—F—@EBIERL
13—7F— 7,5,2,9,3,4,8,1,6
23—+— |[7,5,(2,9),3,4,8,1,6
3T—7— 7,4,2,5,9,3,8,6,1
43—+ — (4,7),2,3,9,5,8,6,1
[ RN
-y 2 2,640 | | 71 K 2-4 340/ | | B = 2-4 920/ | | 3EfE 2-4-7 1,970
# B 2 200M 2-7 1,200M B E 2-4 820 EE 2-4-7 24,480
4 1004 4-7 230M B H 2-4 4,270
7 2104

ABICOVWTRDTEEERROODE. TR LIV,



